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Impulse steam turbine have
type of blades.

(1) Symmetrical profile v
(2) Aerofoil profile
(3) Unsymmetrical profile
(4) None of these

Enthalpy of wet steam is

determined by

(1) he+hyg

(2) he+xhy

(3) xhg+hg

(4) All of the above

In a turbine-generator, electric
energy is produced from

(1) Solar energy

(2) Wind energy

(3) Chemical energy

(4) Mechanical energy v

The arc welding, the temperature
of heat of arc approximately in the
range of

(1) 100-1000°C

(2) 8000 -10,000 °C

(3) 5000-6000°C Vv

(4) None of the above

Copper based filler metal is used
for

(1) Brazing

(2) Hard soldering

(3) Welding

(4) Soft soldering

3-A)

Petrol engine works on

(1) Ottocycle .,

(2) Diesel cycle
(3) Dual cycle
(4) Joule cycle

In four stroke engines, the number
of revolutions of the crankshaft to
complete one working cycle is

(1) One
(2) Two
(3) Three
(4) Four

Mechanical
Engine is

efficiency of IC

(1) ratioofBp&lIp
(2) ratioof Ip & Bp

(3) ratioof Bp & Fp

(4) None of these

Compression ratio of petrol
engines is in the range of

(1) 2to3

2) 7t010
(3) 161020
(4) 1810 22
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If the members are allowed any

relative  movement, then the

assemblage of members is called
(1) Non-rigid truss

(2) Rigid truss

(3) Mechanism

(4) Both(1)&(3)

The ratio of spherical stress to

volumetric strain is
(1) Modulus of rigidity

(2) Bulk modulus ./

(3) Young’s modulus

(4) None of these

Ratio between critical load & safe

load is

(1) Factor of Safety ./

(2) Slenderness ratio
(3) Young’s modulus

(4) Poisson’s ratio

13.

14,

15.

16.

(5-A)

Thin walled pressure vessel is
generally defined as the ratio of
wall radius ‘R’ to wall thickness

‘1S
a)§>m v
Q)%qo
@-%m

(4) Both (2) & (3)

The ability of a material to absorb
energy in the plastic range is
known as

(1) Stiffness (2) Hardness
(3) Resilience (4) Toughness .,

A body has material properties,
that are different in all the
direction is

(1) Homogeneous body

(2) Isotropic body

(3) Orthotropic body

(4) Anisotropic body ./

A steel ball is dropped from a
height h, onto a steel plate &

rebounds to a height h,. The co-

efficient of restitution between the
ball and plate will be

h1 &
(1) h_2 (2) h, v

h, h,
® & @
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Polar moment of inertia of a solid
shaft

m .
) 1ed @
(3) ?—zd“ v (&) %d“

Oxygen to acetylene ratio in case
of neutral flame is

1 1:1 o (2 1:3
3) 1:2 4 2:1

The filler metal used in brazing is
called.

(1) Electrode (2) Solder
(3) Spelter ., (4) Flux

Power developed inside the

cylinder of IC engine is
(1) Friction power

(2) Brake power

(3) Indicated power ,
(4) None of the above

Monitor is an
(1) Input unit
(2) Outputunit ,

(3) Memory unit
(4) None of these

22,

23.

24,

25,

(7-A)

‘OCR’ expanded form,
(1) Output code Representation
(2) Output code Recognisation

(3) Optical character
Recognisation ./

(4) Optical character
Representation

Optical storage media,
(1) Floppy disk

(2) CD-ROM v
(3) Hard disk

(4) Pendrive

Raw material
Transistor

used in making

(1) Carbon

(2) Iron

(3) Silicon
(4) None of these

Kilo Byte (KB) is equal to
(1) 1000 bits

(2) 1024 bits

(3) 1000 bytes

(4) 1024 bytes
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(2) DVD
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26. ‘URL’ expanded form 30. Which among these possess large

(1) Uniform Role Language storage ability ?
(2) Universal Routine Language (1) CD-ROM
2) DVD
(3) Uniform Resource Locator / (2)
(3) Blue-ray Disk
(4) Universal Resource Land
(4) Floppy

27. Compiler translates 31. The basic requirements for PC

(1) MLL to ALL connection to an internet are
(2) ALL toHLL (1) Modem

(3) MLLtoHLL v (2) Telephone line

(4) All of these (3) TCP/IP

(4) All of the above .,

28. Identify the operating system
developed by Microsoft 32. An attempt to divide by zero in a

(1) Linux C program will cause
(2) Android (1) Syntax error
(2) Run-timeerror /

3) Windows
) v (3) Logical error

(4) None of the above

(4) All of these

29. Short cut key/s for searching a _ ]
33. In C, int variable can hold the

specific word, ]
P numbers in the range

(1) Alt+F (1) -128to0 127

(2) Ctul+S (2) -327681032767

(3) Ctrl+F (3) 0to 255

(4) Alt+S (4) -34E+48to+3.4E +48

106 9-A)
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#include<stdio.h>
#include<conio.h>
void main()

{

int x,y;
clrscr();
y=(x=81, 43);
printf(*x=%d",x);
printf(*y=%d",y);

getch();

}

(1) 81 (2) 43
43V 81

(3) 43 (4) 81
43 81

37.

38.

39.

40.

(10- A)

PODEFTFNY  RonTm  BHO®

TOFTFEIAT B TE&TAT WO

TPPE NG DR SDLC

CENAISMO BN OWoN ST R T e

T3RSNITY, TR0 FT030Y .

(1) e8on® (=oed)

(2) Brckont® FozeT 3RBTHYI)

(3) wosB0LseB® (oS
AONTD) |/

(4) &ewnon® BeeaRnTsy
3030 )

TGE  BoaRLIont (Mee300d) 3O

“PE aow X B IINITY
RIS

(1) wouode®/(2) p° ox°
(3) mowfs Seof (4) =T, Seod

93 502‘1)5?0533%; 363 3T 3T
N elnre]

1) s Q) = o
(3) oone (4) o

SoBHUT® FeF TFE & BATO THO
O3 BT

(1) D033 Torded BTN
(2) B00e0D BoesdeRN?
(3) RoBERUBUNY ForsdeeydE

(4) w9300 FomwS

v



34,

35.

36.

106

SPOOL stands for

(1) Simultaneous Peripheral
Operation Off-Line
(2) Simultaneous Peripheral

Operation On-Line

(3) Synchronous Peripheral
Operation On-Line
(4) Symmetric Peripheral

Operation Off-Line

In the Computer Networks, FDDI

stands for

(1) Frame
Interchange

(2) Fast Direct Data Interchange

(3) Final Direct Data Interface

(4) Fiber  Distributed  Data

Data Direct

Interface .,

What is the output of the
following program ?
#include<stdio.h>
#include<conio.h>
void main()

{

int x,y;

clrscr();

y=(x=81, 43);
printf(*x=%d",x);
printf(*y=%4d",y);

getch();

}

(1) 81 (2) 43
43 Y 81

(3) 43 (4) 81
43 81

37.

38.

39.

40.

(11- A)

The process of collecting,
organizing and maintaining a
complete record of programs and
other documents wused during
SDLC is called

(1) Testing

(2) Coding

(3) Documentation ./

(4) Debugging

In the Cloud computing, “Cloud”
represents

(1) Internet ,
(2) Wireless
(3) Hardware
(4) Software

The most reliable network

topology is
(1) Bus
(2) Mesh
(3) Ring
(4) Star

Primary goal
network is

of a computer

(1) Instant messaging
(2) Sharing of information
(3) Sharing of resources ,

(4) Communication among users
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If the flux per pole of a shunt-
wound DC generator is halved,
the generated e.m.f. at constant
speed

(1) isdoubled

(2) ishalved ,

(3) remains the same

(4) None of the above

In DC generators iron losses are
made up of :

(1) Hysteresis and friction losses

(2) Hysteresis, eddy current and
brush contact losses

(3) Hysteresis and eddy current

losses v

(4) Hysteresis, eddy current and
copper losses

The effect of inserting a resistance
in series with the field winding of
a shunt motor is to

(1) increase the magnetic field.

(2) increase the speed of the

motor.

(3) decrease the armature
current,

(4) reduce the speed of the
motor.

44,

45.

46.

(13- A)

In a DC series motor increasing

the load current will

(1) decrease the speed. ./

(2) increase the speed.
(3) better commutation.

(4) increase the back emf.

In a dc generator, the generator,

the generated emf is directly

proportional to the
(1) Field current

(2) Poleflux .,

(3) Number of armature parallel

paths

(4) Number of dummy coils

An idea dc generator has

voltage regulation.
(1) low

(2) zero

(3) positive

(4) negative
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In a transformer, Zero voltage
regulation at full load is

(1) not possible.

(2) possible at
factor load.

unity Power

(3) possible at leading Power

factor load.

(4) possible at lagging Power
factor load.

In 8- pole wave connected motor
armature, the number of parallel
paths are

(1) 8

(2) 4

B 2 v

4) 1

A salient pole synchronous motor
is running at no load. Its field
current is switched off. The motor
will

(1) come to stop.

(2) continue to run at

synchronous speed.

(3) continue to run at a speed
slightly more than the
synchronous speed.

(4) continue to run at a speed
slightly ~ less than  the
synchronous speed.

50.

o1,

52,

(15- A)

A motor which can conveniently

be operated at lagging as well as

leading power factors is the

(1) Squirrel
motor

cage induction
(2) Wound rotor induction motor
(3) Synchronous motor v
(4) DC shunt motor

A balanced three-phase, 50 Hz
voltage is applied to a 3 phase, 4
pole, induction motor. When the
motor is delivering rated output,
the slip is found to be 0.05. The
speed of the rotor m.m.f. relative
to the rotor structure is

(1) 1500 r.p.m.
(2) 1425r.p.m.
(3) 25r.p.m.

4 5rpm. o

The rotor frequency for a 3 phase
1000 rpm 6 pole induction motor
with a slip of 0.04 is

Hz.
1) 8
2 4
3) 6
4) 2
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The E,/V ratio of a DC motor is
an indication of its
(1) Efficiency v

(2) Speed regulation
(3) Starting torque
(4) Running torque

When load is removed
motor will run at the highest
speed.

(1) Shunt

(2) Cumulative — compound
(3) Differential compound
(4) Series

When a synchronous motor is
running at synchronous speed, the
damper winding produces

(1) Damping torque
(2) Eddy current torque

(3) Torque aiding the developed
torque

(4) Notorque

The direction of rotation of a
synchronous motor can be
reversed by reversing

(1) Current to the field winding
(2) Supply phase sequence

(3) Polarity of rotor poles
(4) None of the above

S7.

58.

59.

(17 - A)

The angle between the
synchronous rotating stator flux
and rotor poles of a synchronous
motor is :

(1) Synchronizing angle

(2) Torque angle ./

(3) Power factor angle
(4) Slip angle

When load on a synchronous
motor is increased its armature
current is increased provided it is

(1) Normally excited
(2) Over excited

(3) Under exciter

(4) All of the above ,

For bidirectional operation of

converters

(1) A parallel combination of
controllable switch and a
diodeisused

(2) A parallel combination of
controllable  switch  and
capacitor is used

(3) A series combination of
controllable switch and a
diode is used

(4) A series combination of
controllable  switch and

capacitor is used
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A step up chopper has input
voltage 110 V and output
voltage 150 V. The value of duty
cycle is

(1) 0.32 2) 067
(3) 0.45 (4) 027

Industrial Safety means
(1) Not to go for work
(2) Protection of workers from

the danger of Industrial

Accident. /
(3) No handling of machine
(4) None of the above

Reasons for Industrial Accidents
(1) Poor leadership from the top
(2) Inadequate supervision

(3) Careless attitude on EMS
(4) All of the above /

The safety measures to prevent
Industrial Accidents

(1) Fencing of Machinery

(2) Prohibition of Employment

of young persons on certain
machine

(3) Providing enclosures to the
revolving machines.

(4) All of the above /

64.

65.

66.

67.

(19- A)

The following are the external
bodies which are available to
handle major Accidents.

(1) Fire Authorities

(2) Police Service

(3) Health Service

(4) All of the above /

The following are the toxic

chemicals :

(1) Methyl isocyanate
(2) Ammonia

(3) Hydrogen sulphide
(4) Allof the above ,

Personality is derived from Greek
word ‘persona’ means

(1) Media

(2) Mask
(3) Person

(4) Human

“Concious knowledge of one’s
own character & feelings” means

(1) Awareness of others

(2) Self-awareness ,

(3) Perception
(4) Attitude
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“Is a process Wwhere the
management team identifies the
internal and external factors that
will affect the company’s future
performance.”

(1) SWOT o (2) MOB
(3) LPG 4) MIS

An Acronym made up of 4 words
IS

(1) WATT (2) SWOT
(3) GATT (4) CATT
Positive thinking is strength,

whereas Negative thinking is a

(1)
(2)
(3)
(4)

Opportunity
Threats
Weakness /

Strength

“Spending time with your people
Is much more important than.”

(1)
()
(3)
(4)

Staff meeting /

Routine work
Regular Appraisal

None of these

72,

73.

74,

75,

(21 - A)

Win-Lose, Win-Win & Lose-Lose
are terms of

(1)
(2)
3)
(4)

Fame theory

Game theory .,

Maslows theory
None of these

Communication is needed to

exchange the

(1) idea
(2) opinions
(3) information

(4) Allof the above .,

Translation of information into

series of symbols or gestures is
(1)
(2)
3)
(4)

Encoding /

Decoding
Message

None of these

The communication which does
good and bad to the organisations
are

1)
(2)
©)
(4)

upward
downward
formal

informal




76.

77.

106

SNl o3RexR030T3

1)

()

©)

soB0»  IIFT DR
AT IURSD, RO

o3nes

33THIT 03RCBVNE TOBAOD

(4)

PORT DTy OIS/

DMON=ple] 03RCBINT TOBJAOD

20008  WOZOPTy ~ BIC
202eORZ3
TRBPITFHFY BOFoH  =hew
wges IR S08YTHO O3
WTERNATOT 2TTEIR0DE
TOVOT PRCIBOD
oertgePTH3s

1)

B QR Few® o (@B

()

(3)

(4)

)

ANV
(R3RCN Toaued)

—A;;Gés“@ 2300838

Q FoRpcedees® eeriec

(TORPECTEES® LR0eIR)

o§o$a emcﬂ’eas

78.

79.

80.

221 A)

SMART. mondmm WnN3as

RRBJITRB

1) AR, SreedseRes,
BT, DYWL, Lpee3er

) 109—9 ENOTETy e,

5&3*5‘, DERTWT, L3320
3) —A;wae, DRVOWSF, edeseer,

SSRo0ts, 5 00w v/

(4) BRCAODS, TP,
B&E%ﬁe, BA,, NI

o333 TR B NS o8NP
Sgmes, OWs, BN,

SSAND, 22400, YOI MHOTERY

SRS DI,

(1) =we*8Q 7SPREpIUR |/

() 7, IREE

(3) DR B,

(4)  omE® =93,

B2 BoBAOD TBoSeey BFPEELTE,

22),08 DR ABECST
BRDI00E  wFPmw  =00d
Aepduny  moalobmy,
Q@@dd@ veplain DT

A/NSRSMIN  ToJBAN SR
O330a9N ROWT BTT :@@2@

(1) eom 3nctdnog BesNad
(2) =P OB B, BHNTT
B) = wzse, BHRNIS
(4) 20 O3 3R, BHPNTT




76.

77.

106

A Business Plan is
(1) A plan showing the business
and the performance of the

company

(2) Business plans is only
prepared before starting a

company

(3) Business plans show the

future direction of a company /4

(4) Business plans review the

past history of a company

A written declaration of the
organization’s core purpose and
focus that remains unchanged

over time is known as the

(1) The Vision Statement ,/

(2) The Mission Statement
(3) The Corporate Logo

(4) The objective of the

Organization

78.

79.

80.

(23- A)

S.M.A.R.T. Goals is an acronym

for

(1) Special, Motivational,
Accurate, Reliable, Total

(2) Soft, Meaningful, Absolute,
Reasonable, Tenable

(3) Specific, Measurable,
Achievable, Relevant Time-
bound .,/

(4) Social, Moral,
Risky, Terminal

Artistic,

Which framework constitutes the
following ?

Strategy, Structure, Skills,
Systems, Staff, Style to make
Super-ordinate goals

(1) McKinsey 7S Framework /
(2) 7 Sigma Model

(3) The BCG Matrix

(4) Ansoff Matrix

Every promoter, employee and
director of every company shall
disclose to the company the
number of such  securities
acquired or disposed of within two
trading days of such transaction if
the value is

(1) Over Rupees One Crore

(2) Over Rupees Fifty Lakhs

(3) Over Rupees Ten Lakhs ./

(4) Over Rupees One Lakh
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The Partnership Act States this
about which partner —

This partner has the right to take
their part of the profit but does not
have to be a part of any liability
(1) Limited Liability Partner

(2) A Minor v

(3) A Sleeping Partner

(4) A Silent Partner

Which New Act for Companies

was introduced in 2013 ?

(1) Competition Commission of
India

(2) Monopolistic and Restrictive
Trade Practices

(3) The Companies Act ./

(4) Foreign Exchange
Regulation Act

Which Compliance Act do all
these rules fall under ‘make it
unlawful for a U.S. Person and
certain  foreign  issuers  of
securities, to make a payment to a
foreign official for the purpose of
obtaining or retaining business for
or with, or directing business to,
any person’ ?
(1) Foreign Exchange
Regulation Act
(2) Foreign Exchange
Management Act
(3) Monopolistic and Restrictive
Trade Practices
(4) Foreign Corrupt
ACC

Practices

84.

85.

86.

(25 - A)

Registered firm’s ‘birth
certificate’ showing its legal name
and date of incorporation is
called :

(1) Certification of Inspection

(2) Certification of Incorporation

(3) Credit of Inspection
(4) Letter of Credit

Importer Exporter Code. Import
Export (IE) code is a registration
required for persons importing or
exporting goods and services from
India. Which Agency gives this ?

(1) Indian Institute of Foreign
Trade

(2) State Trading Corporation

(3) Directorate  General  of

Foreign Trade ./

(4) Federation of Indian Export
Organizations

The Factories Act, 1948 came in
to effect from

(1) 1% day of April, 1949 .,
(2) 1% day of August, 1948
(3) 1% day of April, 1948

(4) 1% day of August, 1949
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As defined in the
Disputes Act, 1947 “average pay”

Industrial

in the case of daily paid workman,
is__ full working days.

(1) 15

(2) 12 v

® 28

(4) 30

Industries  (Development &

Regulation) Act, 1951 compels
compulsory licensing for
category of industries.

(1) 12

2 7

) 9

4 5 v

As per the MSMED Act 2006,

Micro Enterprise engaged in

services shall have the investment
in equipments less then ¥

(1) 25 lakhs
(2) 15 lakhs
(3) 10lakhs ./
(4) 50 lakhs

90.

91.

92.

(27 - A)

The Partnership  Act, 1932,
extends to the whole of India
except

(1) Union Territories

(2) Jammu & Kashmir
(3) NCR, Delhi

(4) North Eastern States

As per the *“Consolidated FDI
Policy” of Government of India,
FDI up to _ , under the
automatic route is permitted for
manufacturing of medical devices.
(1) 100%

(2) 51%

(3) 50%

(4) 49%

As per the Karnataka Industries
(facilitation) (Amendment) Act,
2013, the State Level Empowered
Committee IS under the
Chairmanship of

(1) Chief Minister
(2) Chief Secretary

(3) Industries Minister

(4) Principle Secretary of
Commerce and Industries
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Section 11 to 20 under the

Factories Act, 1948 deal with :
(1) Safety

(2) Welfare

(3) Working hours

(4) Health

Cession of work by a body of
persons employed in any industry
IS

(1) Lay off
(3) Lock out

(2) Strike
(4) Closure

Procedure for fixing and revising
minimum wages is provided under

(1) Section 5 of Minimum

Wages Act, 1948 v
(2) Section 7 of
Wages Act, 1948
(3) Section 11 of
Wages Act, 1948
(4) Section 12 of
Wages Act, 1948

Minimum

Minimum

Minimum

Goods displayed in a shop with a
price tag is

(1) An offer

(2) Aninvitation to offer ./
(3) A counter offer

(4) A promise

97.

98.

99.

The term “Set of Bills’ is defined
in the Negotiable Instrument Act,
1881 under

(1) Section 132 (2) Section 9
(3) Section12 (4) Section 133

‘Buyer’ under Section 2(1) of Sale

of Goods Act 1930 mean

(1) A person who buys goods

(2) A person who agrees to buy
goods

(3) A person who buys or agrees

to buy goods
(4) A person who does not agree
to buy goods

Trade Marks Act, 1999 (in force

since 15" Sept. 2003) has replaced

the earlier

(1) Trade & Merchandise Marks
Act, 1958

(2) Indian _ Merchandise
1889

(3) Trademark Act, 1940

(4) Specific Relief Act, 1887

Act,

100. What is the expansion for VAT ?

(1) Value Added Tax v
(2) Valuable Added Tax
(3) Visual Aid Tax

(4) Variable Added Tax

(29 - A)
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QY YVIT TEFODO THTOHB FTLIFODVRLE YVTTHT, 0%, TPRZAY, ot 3ed wd e.0838,08
), AOO3IRT YVZTTIRI0H0TD AeeY GRNATT WBUTEBHIRWE YVTTF, THTOD &R D¢ STWIR
B2 BIM AeeY B 2o LTI, T, SO, eI,

5. QR YUZTNFDY, AN L.ENRUINTE BT QOIS 38,3030 (OMR Sheet) 3630 Fagy, @wFem 2ed
TON0H WReTTAR0ET VYR @R, THTOB &I, YUBT BT TPoDOT TeWINTIIY,
TEHIRIHT.

6. owy BFNER TS woInve. WL T, WeY0E, BIR ANAVRRT @oINY 0.25 Ty woINYy
FIOHLRMHHD.

7. 88y BURTN TINYSY B3, WYToH 2eSoHn BeORPRNR. B3TYFoD AHIT 03w
2PNTOOIR AeeY 033953 DB THTOTY, SPEST,TY.

8. OEB, 0% SNTYODETT, ALY 03 T0LS LIDAT TF,£9e3e YVIT T30 ToFoD BT Te
TOTIBEIVTEITY TR 3@%’336%’3.7«3053@%;563 20T Z)mé@dod QST 5%%?053 m@?oﬁaabd e’aﬁoé 35%
SRIR0R 3,3, SRIENATHONR e, V), BRTBO0E 2PTTF,D.

9. W IFE Ty SO LRROBYTT. TFE WINVE BoTeT ¢otRTT, ToBd BoTy LRRD
BRIy, MHIDRHH. BB, BLFo» BINYE olmde Meomondgon woniRed BInde
©0TNTONTITE.

oIyt Dedod B Fpea®, T BT wE; wed Dedod m?a?@ VT /BRI
TOPINGD f&@éaﬁe}@{ waeaa é’eogd T etaola Vol IO T NREHRT.

106-A Note : English version of the instructions is printed on the front cover of this booklet.
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